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7 100kN/mM#8Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
st 1.00 | 0.00 ~ 392 49.21 | FnLSY | 000 ~ 392|210 10.62 st 1.00 | 5.00 ~ 5.03 49.21 | =hS | 5,00 ~ 5.03| 2.10 10.62
2 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3ImEBZD - ~ — — —
zhLst 1.00 | 0.00 ~ 4.41 55.01 | =hbst | 000 ~ 441 2.06 10.42 st 1.00 | 5.00 ~ b5.52 55.01 | #hst | 5.00 ~ 56.562| 2.06 10.42
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%#8% % — - ~ — — | 3ImEBZD - ~ — — —
st 1.00 | 000 ~ 377 47.44 | FnLs | 000 ~ 377|221 11.15 Thlst 1.00 | 5.00 ~ 5.45 47.44 | =hS | 500 ~ 6,45 2.21 11.15
4 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3mZiBZ % - ~ — — —
st 1.00 | 0.00 ~ 312 39.92 | #nLS | 000 ~ 312 2.30 11.61 Thst 1.00 | 5.00 ~ 5.00 39.92 | =hLS | 5,00 ~ 56.00 | 2.30 11.61
5 100kN/mM#{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Lt 1.00 | 000 ~ 381 47.91 | FnLS 000 ~ 381|213 10.77 Thst 1.00 | 5.00 ~ 5.03 47.91 | =hs | 5,00 ~ 6.03| 2.13 10.77
100kN/mM%E#BZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ 3mERBAD ~
ZhLst ~ st ~ st ~ st ~
100kN/mMZ#2 2 % ~ 3mEHEADS ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2 2 % ~ 3mEHAS ~ 100kN/ M#%#BZ % ~ ImEBZD ~
Thsn ~ Thsn ~ znLst ~ ZznLst ~
100kN/M%#2Z % ~ 3mEHAS ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3mEHEAS ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3mEHAD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
zhsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
Thsn ~ Thsn ~ ZznLst ~ ZFnLst ~
100kN/ MZ#2Z % ~ 3mEHAD ~ 100kN/ Mm%z 5 ~ ImEREZD ~
Thsn ~ Thsn ~ ZznLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3ImEHADS ~ 100kN/ Mm%z 5 ~ ImEREZD ~
ThLlst ~ Thilst ~ znLst ~ ZznLst ~
100kN/ MZ#2Z % ~ 3mEHADS ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~




